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ACC Linear Review

1. Find the slope of the line containing points A(8, -3) and B(-6, -2).
Use the formula:
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- 2. Determine if AB and CD are parallel, perpendicular, or neither.

a. A(-2,-5), B(4,7), C(0, 2), D(8, —2)
— D
Find the slopes of AB and CD.

Hour:

sl AB=1—{5 ‘ &5 _ —2-2
slope of AB = -2 slope of CD = —
_ 12 =321
6 e or2 Lo o 8 or 2
Ans:
b. A(—8,—7), B(4, —4), C(~2, —5), D(1, 7)
slope of AB — ——————(—ﬂ slope of‘mz 7— (=5
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3. Graph the line that contains P(—2, 1) and is perpendicular to TIE'

with J(—5, —4) and K(0, —2).
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4. Write an equation in slope-intercept form of the line with slope of

—4 and y-intercept of 1.
¥ B ‘/: myx-+h

[Y=-“r 1]

5. Write the slope intercept form of line I.
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6. Write an equation in slope-ifitercept fofiii for a'Ti
that is perpendicular to the line with equation y = —X + 5.

Mg—\ m_\_- ‘\"':\
o=l +b
-2 =%

7. Write an equation in slope-intercept gnm for a line containing (-3, 6)
that is parallel to the graph of y = 3t 3.
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HW: Pg 160 # 23, 27, 29-35 odd, 36, 43, 48-50
Pg168 # 13-17 odd, 25-31 odd, 37-41 odd.



